TRTE T Y

-uone|NqeL pig S1eJnade ue si siu} ‘@8paimouy Aw oy

198euepy Buiseyding
sawy 'd [2lued

qul

dojog eaq -Autays

-asuodsay pig 413y} Ui pa3s| sjunowe a3y ul Sunuug zeSeje) eqp Ajddns oloyd zeSe|e) O} pig piemy UOLEpUIWIOIDY

Sle

0002 03 TOST
00ST 03 T00T
|Eniwgns aaisuodsal UON 000T 93 T sak ou U] ajeysiaju|
000Z 93 T0ST
00ST 03 TO0T
[enIwgns aaisuodsal UON 000T 03T ou ou Bunuud poonsapup
05570 $ | 0Sr'0 $]0ss0 $ | 09¥°0 $ 000Z 93 TOST
095°0 $ | ozv0 $ | 0950 $ | o0 $ 00ST 03 TOOT
0090 $ | oos0 $ | oog0 ¢ | oos'0 $ DOOT 93 T soh soh 971 ‘Buipuig pue juud sybieH ooy
=S ;
oog0 ) $ | 05E0 ¢ | oge0 $ ] 0g€0 $ 0002 03 TOST
0250 g | 0eso $ | ovs0 $ | osto $ 00ST 03 TOOT
0650 $ | oss0 ¢ | 0250 $lois0 $ 000T 03 T sah sah Bupuud zebejes eqp Alddng ojoud zebejen
(1¥'$=c0'$+6€S) €£0'$ (Ly'$=c0'$+6€'$) £0°S 06£°0 $ | 06€°0 $ 000Z 03 TOST
(5z16'$=6/£0$+5./¥'S) GLE0S (5Z15°$=5/£0'$+5/v'$) /808 | SL¥0 $ | S0 $ 00ST 03 TOOT
(565'3=5v0'$+55'$) S¥0'$ (565°$=5¥0"$+55'$) S¥0'S 0550 ¢ | oss0 $ 000T 03 T S3A SAA BunuLd jleN egp ‘ou] ‘saydes Aeg
(+aded pajphaas) Adod 1ad aond papjod (+oded| Jaded paphsay Jo} {1aded papiias saydod jo Jaquinu paudisz g pazuUejoN HOAN3A
paphsas -uou) Adod sad 3o14d paplod Adod y3d 39114 pig [-uou) Ado) 124 3d14d I8 T epuappy | paubis
| pandax3
jesodoud pig

{000°01$ UEY} sS] Uo pannbal J0u) %5 puod Pig 210N

Kepsany "WV 006 38 ZL0Z ‘} ¥snbny :d3IN3JO I
1107 Jepusjed o} Buguud :JAWVN Qig

2-£20 :ON aig

L10Z ‘vl Ainr :@3lsod aig

NOILVONIWINODTY NV NOLLVINgvL aig
adoued 3o Ao



